B VCE & PDF https://lwww.geekcert.com/1z0-934.html
' 2024 Latest geekcert 120-934 PDF and VCE dumps Download
: GeekCert.com

170-9349%As

Oracle Cloud Platform Application Integration 2018 Associate

Pass Oracle 1Z20-934 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/1z0-934.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-934 Dumps | 120-934 PDF Dumps | 120-934 Exam Questions 1/3


https://www.geekcert.com/1z0-934.html
https://www.geekcert.com/1z0-934.html
https://www.geekcert.com/1z0-934.html

VCE & PDF https://lwww.geekcert.com/1z0-934.html
2024 Latest geekcert 120-934 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which built-in API platform policy lets you manipulate the request context?
A. Application rate Limiting Policy

B. Key Validation Policy

C. Redaction Policy

D. Groovy Script Policy

Correct Answer: D

Reference: https://docs.oracle.com/cd/E83857_01/paas/api-platform-cloud/apfad/using-oracle-apiplatform-cloud-
service.pdf (224)

QUESTION 2

What two grants allow an APl Manager to use a service in their API?
A. Manage Service

B. View All Details

C. Deploy API

D. Reference Service

Correct Answer: BC

Reference: https://docs.oracle.com/en/cloud/paas/api-platform-cloud/apfad/managing-apigrants.html#GUID-
DDDDOBCC-E609-4F71-8882-B19A039B4A11

QUESTION 3
Which two statements are true about Internet of Things (1oT)?

A. Different IOT approaches need to be established integrate different technologies such as mobile, cloud, big data, and
analytics, and connects everyday objects to each other and to the Internet.

B. Cloud technology is well suited to enable 0T, offering high degrees of agility, low and flexible costs, and excellent
resource utilization.

C. Using loT, hospitality-based businesses can better track customer behavior and preferences to deliver rewards and
more tailored services that differentiate their businesses.

D. IOT is not useful in asset tracking scenarios because there is an unavailability of low-cost connected devices and
sensors that can be embedded into all of the various assets that need tracking.

Correct Answer: AB
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Reference: https://www.oracle.com/assets/oracle-iot-solution-brief-2632911-es.pdf

QUESTION 4

What are two key benefits of Oracle Web Service Manager (OWSM) in the management and security of Web services
across the organization?

A. Security is controlled by the developer of the service and this gives greater control to the development of the service.
B. OAuth services are used for REST based services.

C. OWSM provide a framework that is externalized and declarative outside of the web service implementation.

D. Developers no longer need to understand security specifications and security implementation details.

Correct Answer: CD

Reference: https://docs.oracle.com/middleware/1212/owsm/OWSMC/owsm-intro.htm#OWSMC4166

QUESTION 5

Which operation is NOT supported by Stage activity?
A. Read Entire File

B. Delete File

C. Write File

D. Unzip File

E. Zip File

F. Read File in Segments

Correct Answer: F

Reference: http://www.ateam-oracle.com/integration-cloud-file-handling-primer/
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